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(3) (—14) + (+5) = —(14—5) = —9

(4) (=57) 4 (=75) = —(57 + 75) = —132

(5) (+78) 4 (—141) = —(141 — 78) = —63

(6) (—278) + (—186) = —(278 + 186) = —464

(7) (—108) +0 = —108
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(1) (43) = (+7) = (+3) + (=7) = —(7T—3) = —4

(2) (=5) — (+4) = (-5) + (—4) = —(5+4) = —9
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(5) (=17) — (+24) = (—=17) + (—24) = —(17 + 24) = —41
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=(~7%0) + (+1s0
=+ ({3 ~ Ts0)
:+1%0
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(5) (—99)x (—17) = +(99x17) = +1683 (6) 0 x (—81) = 0

[11] (1) (46) = (—=2) = —(6 +2) = —3 (2) (=91) = (=7) = +(91+7) = +13

(3) (—256) = (+8) = —(256 = 8) = —32  (4) (—126) = (—18) = +(126 = 18) = +7

(5) (4+2002) + (—22) = —(2002 = 22) = —91

(6) 0+ (—175)=0
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(71 (1) WF, =% G, Fa*%%T, ~"—%P LL%T.
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IoT(-1)+(-2)+(+3)=0
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PLEXY, AZES, Bk +3 OfI#EICV5.

(2) Al GTELIIE1EKSL, TT3HEAT, PT2REB-722810%5.

G ODRATORENL, (+1) x (+1) = +1
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=+(4-2) [R5 DF]
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=+(8-2)
=46
) =D = (=8)+(+4) =)+ (=1 + (+8) + (+4)
=(T+8+4)+(-1) [EAFFEHILEMRL]
= (+19) + (-1)
= +18
(=5) = (=6) = (=9) = (+5) = (=5) + (+6) + (+9) + (-5)
=+(64+9) +{-(5+5)}
(A5 &9 LEz 7]
= (4+15) + (—10)
=45
(+1.2) + (=1.5) + (+3.1) + (—2.7)
=+ (1243 ) +{-(15+27} [(AFFLEH Lxmzr:]
=(+4.3) + (—4.2)
=+0.1
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() - (+8)- (-3
= (D (B8 (+D)
- () B )
- () (- (B EE e 8)
“ () ()
- () ()
__22

35
(2] (1) 4—6

=(+4)+ (=6) FoFEoKICHELZ. B TE26Z0F FFHELTIWV]
=—(6-4) ELEDN— )V %o 72]

=-2
(@) ~7T+10=(=7)+(+10) (8) —6-2=(—6)+(-2)
= +(10-7) — (6+2)
=+3 =-8
(1) —9+8=(-9)+(+8) (5) 3-5-2=(+3)+(=5) + (-2)
=—(9-38) =(+3)+{-5+2)}
=-1 = (+3) + (-7)
= —(7-3)
=—4
(6) —27+83-179
=(—27) + (+83) + (—=79)
=(+83) + {—(27+ 79)}
=(+83) (—106)
— (106 — 83)
=—23
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—1.4142.71 + 3.14 — 2.83
=(—1.41) + (+2.71) + (+3.14) + (—2.83)
=+ (2.711+3.14) + {—(1.41 +2.83)}
=+5.85 + (—4.24)
=+ (5.85 — 4.24)
=+1.61

— 373+ 509 — (—491) — 627
—=(—373) + (+509) + (+491) + (—627)
=+ (509 + 491) + {—(373 + 627)}
=(+1000) + (—1000)

() (5 ()
() (3)- (D ()
(D) (3 4)

_ 111_3_7)

_+<18 18
4

18

.37

_+9
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(31 (1) (+8) x (+3) x (—2)
=—-8x3x2) [XAFADPHFHEELDOT, EROFFFIE~ 1T ]
= —48

(2) (=5) x (=1) x (=8)
=-(bx1x8) [YAFADVUHHERDT, &EOHHIEVA FR]
= —40

B) sx(-10)x (-5)
S (5 % 10 x %) [ 4 F AN L DT, LhOBFEE TS 2]
— 410 [5 a%%%cz%’aﬁa\a‘% - t]

0 (3P

2X3X1 a1 DS EITE LB E L]
I3x4x3

+
_|_

1
6

O () < () < (15) < (55
65 X 81 x 7 x4

98 x 2 x 13 x 15
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6) 375 (—%) X % x (—1.21)

33 (16, 25 ¢ 121
_34X( 3)X11X( 100)
:+15><16><25><121

4 x3x11x100

—+55
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(4] (1) 32=3x3=9 (2) 2 =2x2x2x2=16
(3) (=2)* = (-2) x (=2) x (=2) x (-2) = 16
(4) —2' = —(2x2x2x2)=—16 (5) —0.32 = —(0.3 x 0.3) = —0.09

(6) (—0.3)2 = (=0.3) x (—0.3) = 0.09  (7) (%)5 - é_: - 3_12

® (-2) =42 RO 4]

3 34
_ 16
81
4
(9)%:1?6 [FD2 TR AREND]
(10) —(3)4 _x__16 (2)4rv4+xzrow—m
3 34 81 3/) -
2t __ 16
W= =-3
2 _ 416 _ 16
(12) =3 = =3 =—3
{+MX(—%)t%i%né.ﬁ@ﬁ@%©%§%
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[51 (1) (+4) x (=3) + (-2) = (+4) x (=3) x (=5 ) [HD HEHHOAPTHIC]

(4) 2+(—%)+0%=2+(—%>+( ) D]

_ 4
= (2>< 5 X
__32
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1 3 . 1
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.
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(6) (—24) x 3+ (—6) = (—24 —%) (AT
:+(%g3) (a5 30 5]
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(M 4+ (-T)x28=4x (-1)x28

4 x28
7
—16
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(8) (=30) x 2+ (=5) + (=3)
= (=30)x (+2) x (-5 x (-3
_ ( 30 x 2 ) [ 515, #) BRI 5]
5x3
——4 [ EFNT 2]

0 £+ (4 (F) - (DD ()
9

--3 RGBOEELT L]

(10)  (—2)* = (=2%) = (+16) = (—16) [FFTEFETH. —2* = —2x2x2x 2]

_ 416
—16
=1

P+ (-6%)
—— (-8) x (-21) = (=36)  [2FRIOLE]
== (-8) x (-20) x (=) DKIHY SR S )

-+ % (755 % AL ]

?) s (1) trsow
= (-4 <_§_3) < (431 [HDE RS

_ 23 x 34 =T -
=+ (575 & ot i 2 i) & (AL ]

25 % 33
:% (42501
_3
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(-3) ( 3)X( 3)
2
= (+%> x (_%) x (—3%)  [BREDOHT % L]
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(71 (1)

2.4,.1 3_2 5,13
3 s T e e T3 T
61 12 12
1Y _ _1 _4
—ax (-025)+2+ (-1) = (9 x (-1) +2x (-1)
— 41+ (-8)
-7
o1 . T
0.25%x6-7+2=1x6-7
_3-7 _ -4 _ _
=T
1 1 1\%2 1 2-3\%2 1 1\2
9 (3 2)_9 (6)_9 (6)
1.1 _ 1.3 _4
9736 9 1

2 g2y 15 _ 2
(42 +3%) = - = (16 +9) x 5%
_ 2 _ 10
=X 95 =3
5x(—=2)2 =32 x (=2) =5 x4 — (+9) x (=2)
=20 — (—18)

=20+ (+18) = +38
(—2)3x2-3x(=3%) = (-8) x2—-3x (-9)

= (—16) — (—27)
= (=16) + (+27) = +(27 - 16) = +11
62 (= 2) = (-19) =36 x (=) + (+19)

== (36x 2) +(+19)

=(-20)+ (+19) = -1

2 _9)\2 . Q2_2 _ﬁ

2x (=32 +3+ (L) =2 x9+3+ 3
g 25 5,25 _ 24425 _ 49
23X =2t T Ty T 1

{10 — (=3)* x (—2%) = 0.4} + (—2)% x 32

— p— p— ;2 -

={10-9x (-4 5}.4><9

_ 9 1

_{10+9><4><2}><4><9

= (10+90) x 2 =100 x 5 = 225
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WD) (D) = E D (3 ()
(Y
~{(3) -5}
- 2J6F1 x (—8)

(8] (1) AL BoHEE 6+ (-3)=+3 (x)
INEAFO 2 A HTIFIE &,
+2— (+3) = —1 (&)

(2) AL Bofit 3x2=46 (1)
INEHEO 2 A H5HFIE &,
(+2) — (+6) = —(6 — 2) = —4 (&)



(9] (1) ABEHIZHIOH &) +4 L EW-0OT, KEEHAEHE (=0) L35 &, HiOH,
KEEHIZO0— (+4) = -4 £FEE2. 2F ), GIOH L WVES RN /=255 T
WITIE L,

KEEH AT KEEH X 1) 43 L (V72D T

(—4) - (+3) =(—4)+(-3)=—(443)=—7 --- KHH
DKEER] (£ 7253 %5]<]

(=7) - (-9 =(-N+H9)=+0O0-7)=+2 --- AEH
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[GHEH] [ZRV52IR 5]
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(11] 518 (1) BLTMA 2] LHEEPZDILEHNTEL, £oT

O-0O)xa={0+(-1)xO}x A

CCTHEENE S &

{O+(-)xO}xAa=0xA4+(-1)xOxA

[(-1) LTI A] 25| EHTRTILLTEDZDD
OxA4+(-1)xOxA=0xA-0xA
EXDY
O-0)xa=0xA0-0xA
Az LT

Ax(d-0)=ax{0+(-1)x0O}

=AxO+Ax(-1)xO [
=AxO+(-1)xAaxO  [zHEE:H]
=Ax[-2ax0O

LT, HhiImshr. (FHLHI#E)

[12] (1
(2
(3
(4
5
(6
(7
(8
9
(10
(11
(12

)
)
)
)
)
)
)
)
)
)
)
)

(+5) = (+2) = (+5) [+ |- [ x ](+2)
(+5) x {(+2) + +19}_ ) < ) + |+5)[ < +19)

{(+7) + (=31)} x (+41) +7)| x || + (=31 x |(+41)
( +2)

+39) x {(+100) — } (+39)[_x_](+100)[ = J(+39)[ x J(+2)

) =
)

(1) x {(+15) + <+38>} D @B [+ JEnx [(+39)
(—1) x {(+15) — (+38)} = (=) x J(+15)[ = J(=1)[ x |(+38)
48 x (250 — 2) = 48| x [250[ — [48] x |2

—25 % (120 +3) = =25 x 120 4 (—25) x 3 = —25 x [120[ — |25 x |3
—24 % (100 — 2) = =24 x 100 — (—24) x 2 = | — [24[ x |100[ + |24] x |2
~T4x (50 —2) = ~T4 x 50 — (~74) x 2= | — |74| [50] + |74] x |2
~(171439) = (—1) x (171 +39) = (~1) x 171+ (1) x 39 = [ — |171[ — |39
—(171-39) = (~1) x (171 - 39) = (~1) x 171 — (1) x 30 = [ — |171[ + |39
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(13] (1) (+15) — {(+37) + (+12)}
=(+15) (—1) {(+37) (+12)}
=(+15)[ + [0 x Jesn [+ ][ x J+12)

(3) (—13) — (+3) x {(—=11) + (+8)}
=(—=13) + (1) x (+3) x {(=11) + (+8)}
=(—13) + (=3) x {(~11) + (+8)}
—(—13)[+ =[x J[EF =3 [x ]+
(4) (+135) — (+4) x {(=3) — (+2)}
=(+135) — (+4) x {(=3)[ + ] (D[ x J(+2)}
=(+135) + (—1) X (—|—4) X {(—3) + (—2)}
=(+135)_+ J(-4) x {(-3) + =21
=(+135)[_+ |9 x |3 + [0 < ]2

() Tx(6-2)—(1145)=7x(6—2)+(=1) x (11 +5)
—TX6—Tx2+(=1)x 11+ (=1) x5

e u s
(6) —2x (3+4)+5x(2—3)
=(—2)x3+(-2)x4+5x2-5x3
=—2[ < [3[ = |2 x o[+ [5{ < o[ = |5[ = |3
(7) —(9—-17) — 2 x (23— 31)
=(—1) x {94 (—=17)} + (1) x 2 x {23 + (—31)}

1) X 9+ (=1) X (=17) 4+ (=2) x 23 + (—=2) x (=31)
— o] + [17] = f2 x [23[ + |2| x |31

(
(
|




(8)

[14] (1)

— 12 x (51 — 23) — (105 — 62)

—12) x {614 (=23)} + (—1) x {105+ (—62)}

(
=(—12) x 51 + (—12) x (=23) + (1) x 105+ (~1) x (~62)
[ — Ji2[ x |51] + |n2[ x 23] = ]1o5] + |62

(5 -%)
X

_15x 4 12
=15 % o — 15 x =
=20 — 36

——16

(—5+2) <126

— 4 196+ 15 4196

9 7
=—4x14+4+15x 18

=—56+270
=214

25 x (1.75 — 3.41) x 8
=25 x 8 x (1.75 — 3.41)
=200 x (1.75 — 3.41)
=350 — 682
——332

3.762 x 3.7+ 6.238 x 3.7
=(3.762 4 6.238) x 3.7
=10 x 3.7
=37

1299 x 25 — 1303 x 25
=(1299 — 1303) x 25
=—4x25
=—100

(B ]

(2) (1—7 — ﬁ) % 12

4 6
1T 19 25
= x 12 6 X 12
=51 —150
=1

() 314x62+3.14 x 38
—3.14 x (62 + 38)
—3.14 x 100
—314

(M) 374 % 78 — 78 x 1374
(374 — 1374) x 78
— — 1000 x 78
— 78000

) 99 x37
—(100 — 1) x 37
—3700 — 37
—3663



(10) 56 % 31 + 44 x 31 + 69 x 56 + 44 x 69

=(56 4 44) x 31 + (56 + 44) x 69
=100 x 31 4 100 x 69

=100 x (31 + 69)

=100 x 100

=10000

[15] (1) WD
<FI>[O0=15 O=21, A=30DLZ
(O+0)=A2=(15+21)+3=36+3=12
+24+0+A2=15+3+21+3=5+7=12 XoT—%75%

Wi H2HCEHLI L, BROME LTEEZ0T
O+0)+2=0+0) x =

L, ZTTHEREIZMES &
O+0)x o= =0x+=+0x = =0+24+0+4

1
A A
b,

(2) BWIL7=% 0
<BI> A =24, [1=4, O=8DkLZ
A-(d+0)=24+(4+8)=24+12=2
A+ +0=24+4+24+-8=6+3=9 XoT—HL%W.

| BaiifaE)
A-(D‘FO):AX@TlC))
L3 B8

1 1 1
O+o0 fgto
L7223-> T

I2TA5Z EIETE R,

1 1 1) 1 1
Axm*“(i+6)—m OT2%0
=0+ +0



[16] (1) &%As4 |, (BEA2 BT
(+2) x4+ (1) x 2= (+8) + (-2) = +6

(2) EFHFHLT DL, (+2) x 6= +12()
FERIE +3 DT, #EiE (+12) — (+3) = +9
COREREFHEOLEEB/BOL 2D (42) — (—1) =3 THRE, BEOH7zEH

5.

(+9) =+ (+3) =3
Yo, HEUL 6 — 3 =3()
< RlfEE>

WHE, B AR BT EAFNE (42) + (=) = +1 HTORZ 5.
L7ehio T, INE 3ELC DEFITAEF 6 HT3 Mz 5. TIUILRHIZH D
LoT, FHIE3EE 3.

(3) 2% 1 Blik- T, (BHAT 1 I 2 % & 431
—(4+2) + (~1) = (~2) + (~1) = —3(:)
W25 (=3 5W5)
FE 3|, BE 3BT 3 AL, FINOHEEN 1 B TEEHS 1 [\ Z
GEHI 0 EE R D,
$o7T, HFH2Mm, BFH41E

(17] (1) i =49, RS = -8 X0, 49— (—8) = +9+ (+8) =17 (&)
(2) 46 — (—4) = +6+ (+4) =10 (&)

(3) ZNZRO LS 3 EHO L (—4) 23112 L
LIEH  (=8) — (—4) = (=8) + (+4) = ( 4)=—4
6EH  9— (—4) = (+9) + (+4) = +(9 +4) = +13

(4) 2EERHEAEE L2k ZOTHEERDD L,

{(-8)4+0+(—4)+6+(—6)+9}+6
_(0+6+9)+{-(B8+4+6)}

6
_ (415) + (=18)
B 6

- =3

G

=-05

EBEOFIGEIE 80.5 MADT, ZIZH5 2 HOEHIZ
80.5 — (—0.5) = 80.5 + (+0.5) = 81 (/)
LoTHEHEI
81+ (—6) =75 (&)



(81 (1) []=-16x (+2) + (-12)

= (—16) x (+2) x (—%)

6x2 |, 8
12 _+3

=+

(2) 12+(—%)+|:|=21 r, 12><(—%)+|:|=21
(-15)= [ ==

(_1p)eo; - _ 15 __ 5
[]=(15+21= 5=

fad
=

X
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|
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|
B o /l\ "
ol
N—
Il
INIEN NI PN I PSS EN
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(1l (1)

(3)

()

(7)

(+3) = (—4) + (-6) 2) (—4) = (-8) +(-3) — (+2)
(+3) + (+4) + (—6) =(—4)+ (+8) + (=3) + (-2)
1 =1

44+ 18-29+11 (4) %+(+%)+<_%)
(—4) + (+18) + (—29) + (+11) C(+8) + (46) + (—=3)

(+18) + (+11) + (—4) + (—29) B 12

(+29) + (~33) -2

— (33— 29)

—4

(o) C3)-(5) @

(8) (B 0B (-

= =(=a) + (+30) + ()
12 =(+30) + (-5)
_ 117170
o 20
20
-2+ I-2 ®) 02— (2-3)
—9+44;—456—126 :%_@_%)
(+44) + (+56);L(—9) +(—126) :% B {(+2) N (_%)}
(4+100) + (—135) :% _ (_%>
_ 4+ (+3)
24 :
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(2] (1)

—2.8+1—31—(?—1.5)
14 11 52)Jr

_ou g,
5 73
e
=(+13) - (+%)
(B) (&

__ 189

30
__63

10
1125—( +%

:_(Q_ﬁ)_
24 24

=(-51) + (+31)
_21
24

25
=2 X2X2X2x%x2
=32

—TP=-TxT
= —49
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(4)

—0.62=-0.6 x 0.6
=—-0.36



(3] (1)

()

(7)

(-5)* (%) ~(
12 x 7 x 10
Hx2x21

=—4

(—4)* = (=21) =3
=16 — (—7)
=16+7
=23

-3 (-2’
——9-(-8)
——9+8

_10
21

)

2-22

(2)

(4)

124 — 24 x 22

4
=124 — 150

——26

18 — 5 x (—2)3
=18 — 5 x (—8)
=18 — (—40)
=58
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[

OJ|>J> X N)|)—l
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(2)

:(_i);4_(_12><5><14)
27 ) 7x6x15
__ 2 .4
=T art3
::34

2

(S ()< (D) - (3

_ (=) x(=7)x4x2 7564

4x4x21x3 12
7 11
T 18 12
__19
36
Qx(ﬁ_ﬁ)_(ﬁ_ﬂ)
4 3 9 5 2
o I I e R S I e I

— 35 x (24 — 100) — (—67 + 3500)

=| — [35] x [24] + [35[ x |100] + [67] — [3500
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(6] (1) 5 g) 18 (2) —1.25x 4.3 - 3.7x 1.25
9 2 =(—1.25) x 4.3+ (—1.25) x 3.7

5 9
=g X 18— 5 x18 —(~1.25) x (4.3 +3.7)
~10 - 81 — 125x8

==T71 =—10

(3) 471 x 2.63 4+ 0.29 x 2.37 + 4.71 x 2.37 + 2.63 x 0.29
—4.71 x (2.63 + 2.37) + 0.29 x (2.37 + 2.63)
471 % 54020 x 5
— (4714 0.29) x 5
=5X5H
—25

(4) 5.93 x 5.92 - 1.07 x 13.92 — 5.93 x 13.92 + 5.92 x 1.07
=5.93 x (5.92 — 13.92) + 1.07 x (5.92 — 13.92)
=5.93 x (—8) + 1.07 x (—8)
=(5.93+1.07) x (—8)
=7 x (=8)
=—56

(7] (1) 0 &W/hdng (BOEK)
(2) 0 &WKREL, 1T &UNETVHE
(3) 0 LWAEL, 1THUNSVE BEY —1 FW/hEVE
(4) TEWARZVE LV -1 LWKAZL, 0 LWPhEVE
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3% wxexk (1)
i)

[1] (1) 1000 — 80 x 1 = 920(M) (2) 1000 — 80 x 2 = 840(M)
(3) 1000 — 80 x 3 = 760(F) (4) 1000 — 80 x 4 = 680(F)
(5) 1000 — 80 x 11 = 120(M) (6) 1000 — 80 X (M)

(2] Ko X912, z BHOEETE A1, 12 i
LOE s MTETO1OEE LS. LhsT,
M7l CTELAD LIZH2EAOHE 2L T /
1THHFIE &,
(1) 3x2—1=5(@) (2) 6x2—1=11({8) x 1
(3) 10x2—1=19(fd) (4) = x 2 — 1(fH) \

(3]

(4]

(1) L x 24 = 8a(M)

3
(2) (0 +50)+ 2= £E50 (kg
180 — a

(3) (180 —a) + 2 = (%) E7213 90 — 2-(°)

2
(4) x+6+y+4:%+%(ﬁ%ﬁﬁ)
(5) #MWfE (axb+bxc+cxa)x2=2(ab+ bc+ ca)(cm?)

FFE  ax bxc=abc(cm?)
4

(6) 4+ (a+b) = a-l—b(km/h)
(7) (€—2><a)+2:e_Tza(cm) F7203 €+2—a:§—a(cm)
40m — 19a

(8) (mx40—ax19)+21= o1 (=)
(1) 331.5+0.6 x z = 331.5+ 0.6 x 0 = 331.5(m/s)

(2) 331.5+0.6 x x = 331.54+ 0.6 x 15 = 340.5(m/s)
(3) 331.5+ 0.6 x @ = 331.5 + 0.6 x 22 = 344.7(m/s)
(4) 331.5+ 0.6 x 2 = 3315+ 0.6 x 40.8 = 355.98(m/s)
()

5) 331.5+ 0.6 x & = 331.5 4 0.6 x (—41) = 306.9(m/s)



[5] (1) 4a (2) azy (3) 10a

(4) be (5) —a (6) 0.1xy
[0.xy &1EFHD 7]

(7) a (8) 3ab? (9) 2(a +b)

(10) (a —b)(= +y)
[(z4+y)(a—0b) bHEVEVWENZWY, TIVT7 77Xy METW) & (a—b) »°

%]
(11) (a+b)? (12) —(z +y)(z —y)
[—(z—y)(z+y) W]
(6] (1) %

(2) 2 B AL M eOT, EEEs A
n

(3)27“ [+ @ x2) mor L]
5 a—b>b x
W) o () 2= ®) -5
ac 6 4a®
(1) &< ® o 0) 2

(71 (1) 2xaxb [UF, 2UHEOEEAZEZTH Xv]

2) —-3xz Xz (3) a x (b+c)
(4)axb—2xc BG)2xex+y [2+yxa bH]
6) axc=b (Ma+bsc

®) (x—y)+(a+b) 9) (a+b) x (a+b) X (a+b)+2
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(8] (1) —3a=-3x2=—6
(2)a—b=2—-(-3)=2+(+3)=5
(3) da+20=4%x24+2x(-3)=8+(-6)=2

(4) a®>=23=8

bl (1) £ ===+
() o - (XD (B)x1_ a4 g

(4) a2~ b2+ 2 = (-3)2 - (—%)2+(—1)2=9—%+1=37?
a® -5 (=3)°-5 2
(5) = =(-32)x = = —64
N CI R
(6) —a? + 4% — 3¢% — 2abe

1

= —(=3)2+4x (_5)2 3% (=1)% — 2 x (—3) x (_%) x (—1)

:—9+4x%—3x(—1)+3
= 94+1+3+3=—2

[10] (1) 100a + 10b + ¢
(2) x=4a -0

(3) VKR OB - 3x+7
BAROEL - - 23r+7) -8 =6z +14—-8=6x +6 (1)
(4) ba + 2
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[12]

[ 257 (cm?)
HoES 107 (cm)
HfE  mx 122 x % = 247 (cm?)
HoE s 2#X12X%+12X2-4r+24(cm)
HfE 7 x 8% x % = 52(cm?)
oS 848413 =29(cm)
if ma?(cm?)
oS 2ma(cm)
(1) 3z, 10 3z DRE 3
(2) by, —2 5y DR 5
(3) —4a (DH) —da DR —4
(4) z, 7 x DR 1
() -2, -2 -Logx -1
(6) —a, 8 —a DR -1

da—a=(4—-1)a=3a
x

—3z=(1-3)r=—2x

25m — 23 — 13m + 18 = 25m + (—23) + (—13m) + 18
= 25m + (—13m) + (—23) + 18
= (25— 13)m + (—23 + 18)
=12m —5 [(EHFZ DX EROTD L]
78 — 36p — 29 + 53p = 78 + (—36p) + (—29) + 53p

= (=36 +53)p + (78 — 29)
=17p + 49
6+2a—3+5a=2a+5a+6—3
=T7a + 3
152 -4 -T2 4+8=15x —Tx —4+38
=15-T)x+(-4+8)
=8x + 4

_4 1 _
—4_5x 5x+7 4

(3 dees
3

3r+3
U

4 1
5x—|—7— 5x

—2—-8m+4+3m
12
—8m+3m—2+4
12
—5m + 2
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9o 1 1
3Ty Ty

1
6
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(2) %w—x:(%—l)x:—lm [—%’C‘%J:b\]

3,53 _ 1 a .
(8) 125a—$a=Ta-Sa=a [2,0.5a“C%)J:b>]

z _x & x Sr—dx42r—x 5 [5_96 < b}
@W3-6tig 20~ 24 2" og COEV

1,1 1,1 _ 4r+6-3z+2 =x=+8 [L 2= u}
O) gty —grtg = 2 BT TR IR
1 _ 3_1_ 1 .5 3 _5-7 __ 2
(6) 7cz4—1.25 0.2a+4— —a 5a+4+4— 35 a+2= 35a—|—2
—2a+ 70 ~ ]
—=— T T lwn
[ 35 b
[15] NIz
1 1
(1) 100a, a (2) 1000z, T
1000 1000
_x
[1000, 0.001 eéﬂ}
IR n] x i
(3) 60y, ==y [60 ) 4) 5 (01 67, @
b 5 5b 10006 10 5 ]
- - —_ 1] = =00 = —
(5) 60’ 18b{18 1T, 60 x 60 36b 18b
[16]
%——l —r = l
2 2
20 = —1 —2x = +1
2
2 (_ 1\ _ 1 2 _ 1
. _( 2) Ty . A
1 _ 1 2 _ 5 _1_
x 1 7 1 2 x +2
2
1 _ 1 _ 4 _ I S
?— l =1x 1 =4 12 =4
4
iEnrs,
1 2 2 2 2 1
7 az,w,—w,az,—a}—w,——?
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[17] (1) m ( +—) F) - [(m+ ) w]

100 100
2) __120ax 100
100 X120+ (120 +b) x 100 = 752 XA 51120
120a
— _22ba (o,
b+ 120 (%)
(3) (_a_ b _ .
(100 x 100 + oo 300) (100 + 300) x 100 = (a + 3b) + 400 x 100
~100(a + 3b)
400
_ M(o@
4

(4) 5 MM ax (1+5) ()

1
WEAE O LT TR ax(l—i—%) (1+ 10) a <1+%> <1+%> ()

(18] (1) ¥FEr oHOEREE 2r, HEAOESIIERE x HARTE 25050 T, HEANES
013

{=2rxm=2nr
LFREL.
M OMmARILPE x PE x HEETRDL0T, MHiE S 1

S=rxrxm=mnr?

LRED.

(2) bLOMDOEDEED 320 fEERBHOT,
;L _a__ mar
=21 X 365 = 180

(3) b LMD R&%bDT

2
’ 2 a _ wTanr
S =X 360 360
r S ORERRDE, VX % iR, ST haIEbhL. o7,

g I
S—éx2

Or
2

360

S8 =
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[19] (1) 7 x 52— 7 x 3>
=251 — 97
=167 (cm?)

(2) 7 % (2a)* — 7a?

=7 X 2a X 2a — wa?

=4ra® — 7a>

=3ma?(cm?)

4) THOLIIZEL 5L (4) OFHEETD
TS, (3) OFHEERICE Ly,

(3-3) e

acm

(5) KEVEHBOERIE, 112H 5 EHBOER-D 2 57 0T 2a%(cm?)
ThDIChD 4O0E) EREADELE, KEVCENBIZF-72) ABMELS

DT, ZOMER
2a% x T (cm?)

4
LT

2a* — 2a* x % = (2 — %) a’?(cm?)
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(1] (1) 3ab (2) 6xy (3) —xy®
(4) 3(z + y)? (5) 5 (6) —=
T —y m(x + y)
(1) = (8) 3
Rl zxxzxy 2)zxy+5xz
(3)z+7 (%xx“(“%ilﬂ) ) (a+b)+z
3] (1) a+b=5+(-2)=5-2=3 (2) 20—3b=2x5-3x(-2)
— 10— (6)
=10+6
=16
(3) Tab=1T7 x5 x (=2) = —170 (4)  a®+ab—2v

=52 45 x (=2) — 2 x (=2)?
=254 (—10) — 2 x 4

=25 - 10— 8

=7
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(4] (1)

(5] (1)

3a+4a =(3+4)a

=T7a
12
6" 3
(29
6 3
1
:—E;c
Lissp-1
—§+b+3—1
=($+1)b+3-1
:%b+2
eeg(3)
2 3
5,2
=213
_ 19
6
2
mﬁy:wx(—%>xg-
_ 4.5
=18 x 9 X 5
—20
1,1 3,2
x+y 2+5
_11
10
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Se —ax=(5—1)x
=4z

—x4+1+4+2x-7
=—ax+2x+1-7
=(—1+4+2)x+1-7

=xr —6

11z — 9y — 8z + Ty
=3z — 2y

=—2-5
=7



5 17 11 13 25
7 _ 2 _ A8 25
(7) ER T LA T A
511425 . 1713

= 6 Tt Y

[6] (1) 2 cm= —Z _m=10z mm
100
- t
2) t Ff =60t 5% = — H
(2) t ] =5

a

ram = = :43}5#(

(7] (1) 80x + 45y (M)
b

—a —_— =
(2) 7g5 %300+ 755 * 500 = 3a + 5b (M)

3 ) _p500—_ 1@
(3)500—ax(1—ﬁ>—500 e

x
(4) ax(l+ﬁ>:a<1+ﬁ> (N)

(5) 1000a 10006 — 1000a 50 25

60 120
(6) HEDE S 2ra(cm)
T A% ma?(cm?)
90

3

.1

1000 ~ 60

_5 .25, 25 _ 25
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)km: Lo

3
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